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public class SysoRaetsel {
public static void main(String[] args) {

int zahlil;

int zahl2;

zahll = 4;

zahl2 = 7;

int zahl3 = 10;

System.out.println("zahll");

System.out.println(zahll);

System.out.println(zahl2 - zahll);

System.out.println(zahl3 / zahll);

System.out.println((zahl3 + (zahl2 + zahll) * -1) * -1);

System.out.println("Countdown ende");

zahll = 13;

zahl2 = zahl2 - 4;

System.out.println(zahl2 + " ist die zweitkleinste Primzahl");

System.out.println("zahll % zahl2 = " + zahll % zahl2);

System.out.println("und zahll / zahl2 = " + zahll / zahl2);

System.out.println("zahl3 * 8");

System.out.println((zahl3 + 8) / 6 % 2);

System.out.println(zahll = zahl2 + 3);

System.out.println(“zahll = " + zahll + ", zahl2 = " + zahl2 +
" zahl3 = " + zahl3);

System.out.println(zahll < zahl3);

System.out.println(zahll == zahl3 - 4);

System.out.println(zahll + zahl2 > zahl3);

System.out.println("Kartoffel");

System.out.println(zahll + zahl2 + 900 * zahl3 > 9000);

System.out.println(zahll < zahl2 && zahll < zahl3);

System.out.println(zahll < zahl2 || zahll < zahl3);

System.out.println(zahll = zahl2);

System.out.println("zahll = " + zahll + ", zahl2 = " + zahl2 +
" zahl3 = " + zahl3);



